# AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

(check applicable   FEDER	e box) CAL CANDIDAT	ГЕ	🖄 STAT	E/LOCAL CAI	NDIDATE
To Ava Windov	ail Themselves w, Federal Can	of The Lo didates M	west Unit Chaust Sign The	arge During a Certification C	Political On Page 3
Station and KIN	l Location: E , Honolu	ılu		Date 8/	3/16
I,	rark Hawa	ovth			
being/on behalf	of:	eone Na	koa		, a legally
qualified candid	ate of the	Democra	hc		political
party for the off	ice of:	vaii Stat	e Senate	District 13	
in the	primary			. 781	
election to be he	eld on:	August	13,2016		
do hereby reque	est station time as fo	llows:		-	·
Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
Total Charg	jes:				

For programming that, in whole national importance," list the ma	or in part, "communicates a message relating atters below:	to any political matter of
I represent that the payment for	the above described broadcast time has been	furnished by:
Friends	of Keone Nakoa	
	nce the time as paid for by such person or entitity is either a legally qualified candidate or aregally qualified candidate.	
The name of the treasurer of the	candidate's authorized committee is:	
Ank	Look,	
This station has disclosed to me	its political advertising policies, including: apther sales practices (not applicable to federal c	
	DISCRIMINATE OR PERMIT DISCRIMIN N THE PLACEMENT OF ADVERTISING.	NATION ON THE BASIS
To Be Signed By	y Candidate or Authorized Co	ommittee
8/3/16		
Date	Signature	
To Be Sigi	ned By Station Representati	ve
☐ Accepted	☐ Accepted in Part	☐ Rejected
Signature	Printed Name	Title

## Keone Nakoa

	KINE										
									etwalijanjanien		
8/5-7	10a-3p (Sat)	\$25						2		2	\$50.00
3/5-7	10a-3p(Sun)	\$20							2	2	\$40.00
3/8-12	6a-10a	\$70	2	2	2	2	2			10	\$700.00
3/8-12	3p-7p	\$70	1	1	1	1	1	•		5	\$350.00
THEOLogy Characters	KRTR	er e 1995 e albert de 172 Miller II-ric (role 1895)	rance we the other con-	Constitution of the Consti	Carl Consideration Control					19	\$1,140.00
		÷	46								
3/5-7	6a-10a (Sat)	\$35						2		2	\$70.00
3/5-7	3p-7p (Sun)	\$35							2	2	\$70.00
3/8-12	6a-10a	\$85	2	2	2	2	2			10	\$850.00
3/8-12	10a-3p	\$85	1	1	1	1	1			5	\$425.00
										19	\$1,415.00
				767.00		A Liver	V. 10		SELECTION OF SELECTION		

#### Invoice / Affidavit

Remit To: SummitMedia LLC Mail Code 61304 P.O. Box 1300 Honolulu, HI 96807-1300

FIN: 46-1715921

BILL TO:

CONNECT WORKS GROUP 76 N. KING STREET, SUITE 200, HONOLULU, HI 96817



We warrant that the broadcast information shown on this invoice was taken from the program logs

Broadcast Month	Invoice Date	Print Date
August 2016	Aug. 15, 2016	Aug. 30,2016
Contract Number	Invoice Number	Page
4690	855-5886	1
Revenue Typ	e	
LOCAL POLITI	CAL AGENCY	

Station	Adv	ertiser		Sales Rep	Product		
KINE-FM	FRI	ENDS OF KEONE NAKOA		ALAN YAMAMOTO	FRIENDS OF K	EONE NAK	OA/STAT
Date	Len		Time	·	Qty	Rate	Tota
Tape Name: F	RIEND	S OF KEONE NAKOA/STATE	SEN DIST 13			<u> </u>	
08/06/16	30	Prime Weekend 10a-7p	10:49:56 AM	02:50:10 PM	2	\$25.00	\$50.00
08/07/16	30	Prime Weekend 10a-7p	11:19:57 AM	02:21:12 PM	2	\$20.00	\$40.00
08/08/16	30	MORNING DRIVE	07:16:43 AM	09:51:33 AM	2	\$70.00	\$140.00
		PM DRIVE	06:52:04 PM		1	\$70.00	\$70.00
08/09/16	30	MORNING DRIVE	06:13:50 AM	08:48:44 AM	2	\$70.00	\$140.00
		PM DRIVE	03:19:13 PM		1	\$70.00	\$70.00
08/10/16	30	MORNING DRIVE	07:18:15 AM	09:18:23 AM	2	\$70.00	\$140.00
		PM DRIVE	05:49:53 PM		1	\$70.00	\$70.00
08/11/16	30	MORNING DRIVE	06:56:02 AM	07:57:04 AM	2	\$70.00	\$140.00
		PM DRIVE	04:20:40 PM		1	\$70.00	\$70.00
08/12/16	30	MORNING DRIVE	06:57:40 AM	07:54:56 AM	2	\$70.00	\$140.00
		PM DRIVE	06:18:35 PM		1	\$70.00	\$70.00

<u> </u>		
	Actual Occasions	19
	Gross	\$1,140.00
	Agency Commission	\$171.00
	Net	\$969.00
	Tax	\$45.66
TERMS: NET 30 DAYS	Payments/Adjustments	\$0.00
Please email SummitAR@Summitmediacorp.com for any billing inquiries.	Total Due	\$1.014.66
We appreciate your business!		
In accordance with Paragraphs 49 & 50 of the United States Federal Communications Commission Report and Order Number FCC-07-217, this station will not discriminate in any contract for advertising on the basis of race or ethnicity, and all such contracts will be evaluated, negotiated and completed without regard to race or ethnicity.		

#### Invoice / Affidavit

Remit To: SummitMedia LLC Mail Code 61304

P.O. Box 1300

Honolulu, HI 96807-1300

FIN: 46-1715921

BILL TO:

CONNECT WORKS GROUP 76 N. KING STREET, SUITE 200, HONOLULU. HI 96817

We warrant that the broadcast information shown on this invoice was taken from the program logs

Broadcast Month	Invoice Date	Print Date
August 2016	Aug. 15, 2016	Aug. 30,2016
Contract Number	Invoice Number	Page
5176	859-6568	1
Revenue Two	10	

LOCAL POLITICAL AGENCY

Station 2	Advertiser		Sales Rep	Product		
KRTR-FM	FRIENDS OF KEONE NAKOA		ALAN YAMAMOTO	FRIENDS OF K	EONE NAK	DA/STAT
Date Le	en	Time	· · · · · · · · · · · · · · · · · · ·	Qty	Rate	Total
Tape Name: FRIE	ENDS OF KEONE NAKOA/STATE S	SEN DIST 13	· · · · · · · · · · · · · · · · · · ·	1 1		
08/06/16 30	Prime Weekend	06:46:35 AM	08:13:54 AM	2	\$35.00	\$70.00
08/07/16 30	Prime Weekend	01:14:15 PM	02:46:11 PM	2	\$35.00	\$70.00
08/08/16 - 30	MORNING DRIVE	08:17:36 AM	09:17:58 AM	. 2	\$85.00	\$170.00
	PM DRIVE	06:15:49 PM		1	\$85.00	\$85.00
08/09/16 30	MORNING DRIVE	06:18:38 AM	08:21:34 AM	2	\$85.00	\$170.00
	PM DRIVE	05:15:01 PM		1	\$85.00	\$85.00
08/10/16 30	MORNING DRIVE	07:19:28 AM	09:18:00 AM	2	\$85.00	\$170.00
	PM DRIVE	03:18:10 PM		1	\$85.00	\$85.00
08/11/16 30	MORNING DRIVE	06:37:33 AM	08:17:15 AM	2	\$85.00	\$170.00
•	PM DRIVE	04:46:19 PM		1	\$85.00	\$85.00
08/12/16 30	MORNING DRIVE	07:20:37 AM	08:44:38 AM	2	\$85.00	\$170.00
	PM DRIVE	03:47:10 PM		1	\$85.00	\$85.00

	Actual Occasions	19
	Gross Agency Commission Net	\$1,415.00 \$212.25 \$1,202.75
	Tax	\$56.67
TERMS: NET 30 DAYS	Payments/Adjustments	\$0.00
Please email SummitAR@Summitmediacorp.com for any billing inquiries.	Total Due	\$1.259.42
We appreciate your business!		
In accordance with Paragraphs 49 & 50 of the United States Federal Communications Commission Report and Order Number FCC-07-217, this station will not discriminate in any contract for advertising on the basis of race or ethnicity, and all such contracts will be evaluated, negotiated and completed without regard to race or ethnicity.		



Summit Media, LLC - Hawaii 900 Fort Street, Ste 700 Honolulu, Hawaii 96813 (808) 275-1000

### STATEMENT OF AUTHORIZATION

The undersigned, KEONE	NANDA	, hereby states that he or she is
legally qualified candidate of the	DEMOCRAT	political party for the office
of SENATE DISTRICT		
execute the necessary certification for	or him or her:	
Name: CONNECTURE	RICS GROVE HOW	V41(
Address: 76 D. KI	uc 84.	
GUITE ROW	, HONOLULU	H1 96817
Address: 76 N. KI.  SUITE 700  Telephone #: (808) 545	5544	
The undersigned also authorizes the	above person to buy time	on his or her behalf subject to the
following restrictions or limitations:	-	·
MARK HOWERT		
Payment will be made by:		
☐ Candidate	☐ Corporation	
☐ Association ☐ Other		
And said sponsor will be identified a	sa Committe	ع.
The names and offices of the chief ex		
_ ARIK LOOK,	KEONE NAKOA	
•		
Address of Headquarters:	P.O. Box / Harrur H	13%
	HONORULU PH	96807
8/3/14	Leone J.M	More
Date	Candidate	

				ntract	). L.RATE	2 50.00	2 40.00	5 350.00		·						19	\$1,140.00	\$171.00	\$969.00	\$45.66		\$1,014.66
			-	Sales Contract	RATE OCC.	25.00	20.00	70.00 7														:
CONTRACT # 4690	REF # 1483 REV # 1	PRINT DATE 11/15/2016 6:49:33 PM	ATE SEN	Product	SPW Mo Tu We Th Fr Sa Su	×		1 1 1 1								Total Occasions		Agency Commission				t Total
,			ONE NAKOA/SŢ/	Client	LEN SPW Mo	30 2	2	10 5 1				:			÷.	Total Oc	Gross	. Agency	Net	Тах		Contract Total
SALE TYPE Standard			PRODUCT FRIENDS OF KEONE NAKOA/STATE SEN DISTRICT 13	EST#	P ALT	3	т	ကက													:	
BILLING TYPE Broadcast	S S S		DATE		START FINISH			016 8/12/2016 016 8/12/2016			•		. •		•	 -						
		·	<b>ATE REVISION DATE</b> 316 8/4/2016	OFFICE HONOLULU	FINISH ST			10:00A 8/8/2016 07:00P 8/8/2016														
CONTRACT TYPE Regular			T END DATE 316 8/12/2016	ACCOUNT EXECUTIVE YAMAMOTO, ALAN	START	10:00A	10:00A	06:00A 03:00P									^		:	٠	:	
			START 8/6/2016	ACCO YAMA	E TIME	nd 10a-7p	nd 10a-7p	₹IVE								•						
REVENUE TYPE LOCAL POLITICAL AGENCY		1			SCHEDULE - TIME	Prime Weekend 10a-7p		MORNING DRIVE							-	-	i.	Sor.				
	MAILING ADDRESS CONNECT WORKS GROUP 76 N. KING STREET, SUITE 200	96817		ONE NAKOA	TYPE DAY			COM Mo-Fr									Accepted For Agency/Changer	or Agency/Spon				ļ
STATION KINE-FM	MAILING ADDRESS CONNECT WORKS GROUP 76 N. KING STREET, SUITE:	HONOLULU, HI 96817	BUYER	ADVERTISER FRIENDS OF KEONE NAKOA	STA. Line	-	2 0	∞ 4			.:						Accorded F	L naidanov	:			

			٠.		-				
STATION KINE-FM	REVENUE TYPE LOCAL POLITICAL AGENCY	CONTRACT TYPE Regular	<b>r</b> PE		BILLING TYPE Broadcast	SALE TYPE Standard		CONTRACT# 4690	
MAILING ADDRESS						-		REF # 1483	
CONNECT WORKS GROUP	GROUP							REV # 1	11年からから 日本の日本
76 N. KING STREET, SUITE 200 HONOLULU, HI 96817	7, SUITE 200 3817	:						PRINT DATE 11/15/16 6:49:33 PM	To Strate Line State
BUYER		START 08/06/16	END DATE 08/12/16	REVISION DATE 08/04/16	DATE	PRODUCT FRIENDS OF KEONE NAKOA/STATE SEN	NE NAKOA/STA	TESEN	
ADVERTISER FRIENDS OF KEONE NAKOA	NAKOA	ACCOUNT EXECUTIVE YAMAMOTO, ALAN	ECUTIVE ALAN	OFFICE HONOLULU	n:	EST#	Client	Product	Sales Contract

BILLING SUMMARY

NET	969.00	
GROSS	1,140.00	
MONTH	Aug-16	-

Total Occasions	19
Gross	\$1,140.00
Agency Commission	\$171.00
Net	\$969.00
Тах	\$45.66
	·
	•

Accepted For Agency/Sponsor:

\$1,014.66

Contract Total